FOR CLASS X 20-21 — MATHEMTICS — TEACHER MANISHA ROY

TOPIC — LINEAR EQUATIONS IN TWO VARIABLES REF : NCERT BOOK
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ASSIGNME 4
INEAR EOUAﬂONS INZ VAR’ABLE
& Jzi"f"- ‘i'l ’/Q <
which of the following '® not 3 golutio” of the pa"° of &9
amﬁilt-ﬂ"yi‘l - y:f
::; x‘ay=7 P S
The grapnic@ representatio” of the g2t & eauations #° “¥ ~ ¢ =% At v
-12=0 provides us 3 parr |
(3) Pafallel lines (®) mersecting WEE
{d) 1$ONE 'J' ¢ =

(©

Thesolmionofthepalrofenuaﬁoﬂsu* Ly =10 87° s By =128
(a) x=2.y=1 () t:ﬂ y=4&

(© x=2,¥ =% (g) mo RN
ThevalueofoorMud'l' she pair of £quaLONE wr—y=Zancc _pyeim
‘3lmiq0850luﬁon s

(a) k=3 CS) r="=

(¢ k=0 e

15 m'-gqs.s1 -

'dﬂ‘efmpmofeqmms
© Ax-¥=%

(a) 3x-2y=8
x+3y=1 y- =72
(¢ x-y=1 fd)y Sx—y=7C
x-y=1 <0y — 2y =25
mvetﬁmdmwmwﬁemg—ri reepezTing TE
equations y=x,y=0.x+y=10a o
@ (0055010 @ 0055007
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The pair of linear equations ax = =
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a Diie alal
s < o d o
(c) s () R

it the pair of linear equations 3x +y = 1 and (k- Nx+t(k-Ny~ 2k v e

inconsistent, then the value of k18

@ 1 (y 0

© -1 (dy 2

The solution of the pair of equations a_ b pand b ',rh a’bis
x Y X Y

(a) x=ay=b (b) x=-a y=2b

(0 x=ay=-b (d x=-ay=-b

Five years ago, Namita was thrice as old as Mamta. Ten years later, Namita

will be twice as old as Mamta. How old is Mamta at presont?
(a) 50 years (b) 20 years
(c) 30 years (d) 15 years
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Assu;mmEIN 2 VAR ABLES

LINEAR EQUAT'ONS
hat the following

irs of equations represent
palr

Determine the value of k SO t

coincident lines. o
(a) x+2y+7=0;2x+ky* 14 =

X*5y—7=o;4x+20y+k=0. |

of equations are

(b) |
lowing Pairs

f k so that the fol

Determine the value O
k-2y-5=°

inconsistent. 2

(@ (3k+1)x+3y—2=0;(k 4‘1)X+(
(b) kx+3y=k-2 12x + ky =K

py train and partly by car. He

. He takes 12

d the rest b .
the rest by c¢ar. Find the

Ramesh travels 760 km to his home partly
takes 8 hours if he travels 160 km by train an
minutes more if he travels 240 km py train and
speed of the train and the car separately.

mes as old as hi
the age of the

s son. Two years \ater,

Two years ago, the father was five ti :
son. Find their present

his age will be 8 more than three times

ages.
m of its digits. The number formed by

A 2-digit number is seven times the su
| number. Find the number.

reversing the digits is 18 less than the origina

Some amount is distributed equally among some students. If there are 8
students less, every one will get Rs. 10 more. |f there are 16 students more,
every one will get Rs. 10 less. What is the number of students ? How much

does each get ? What is the total amount distributed ?

4 men and 4 boys can do a piece of work in 3 days, while 2 men and 5 boys
can finish it in 4 days. How long would it take 1 boy to do it ? H
would it take 1 man to do it ? ? How long

A sailor goes 8 km down stream in 40 mi
: minutes an ‘
Determine the speed of the sailor in still water and the s:e;:tl;;r:: in 1 hour.
e current.







10.

10.

apart from each other on a highway. A car starts

t the same time. If they go in the same direction,

points A and B are 90 Km
posite directions they meet in 9/7

from A and another from B a
they meet in 9 hours and if they go in the op
hours. Find the speeds of the two cars.

Solve for x and y
(@  6x—2y=5xy, 2x + By = 5xy
(b)  99x + 101y = 499; 101x + 99y = 501

B i _ap—d
2(x+2y) 3(3x-2y) 2
=5 3 _61

4(x+2y) 5(3x-2y) 60
x-1 y-2 x-1 y-2

ANSWER
(a) k=4
(b) = .28
(a) k=-1
(b) k=16

80k/h,100k/h

10 yrs. 42 yrs.

42

32 students, Rs. 30, Rs. 960

boy = 36 days, man = 18 days

Sailor — 10 k / h, speed of current =2 k/h

A-40k/h, B-30k/h

(a) x=2y=1
(b) x=3, y=2
1 5
() x=3Y7%
x=4y=5

(d)




